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Warning: col ['FR'] missing
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P4

BYE) | GEBERTIC (B)) | ERE (BEA/4K) | EBREE (B/R) | XS EFF

07:05 278 150.0 0.588 [(Z=| FmHA@O7:05 RENFEF (GRAfEREER)
08:00 278 150.0 0.588 [(Z=| ThHA@OS8:00 KENFEF (RAfEE:E)
09:10 278 150.0 0.588 [(Z=| FhHA@O9:10 KENFEFE (RAMEE:E)
10:25 278 150.0 0.588 (Z=| FhHA@10:25 KENFEF CGRAMEREEE)
11:30 278 150.0 0.588 [Z=| FhHA@11:30 KENIZEF CGRAMEREEE)
12:30 278 150.0 0.588 [Z=| FhHA@12:30 KEIEFE (CGRAMHFESE)
13:30 278 150.0 0.588 [(Z=| FhHA@13:30 KENIEF CGRAMEREE)
14:30 278 150.0 0.588 (Z=| FhHA@14:30 KEIEF (GRAMEESE)
15:40 278 150.0 0.588 [Z=| FhHA@15:40 KEIEFE (CGRAKFESE)
23t 2502.0 (9%) 1350.0 32 UHHEC: 2080.0, PH: 6.4

#HERECE (2102.0 vs 3195.0) RS
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P4

BYiE) | GEBRAK ) | ERE(EA/K | EREE B/ R [ XS R

08:35 283 150.0 0.588 5| {Ri%e08:35 Bz (FFAERSE)
09:25 283 150.0 0.588 Sl {Rige09:25 B (RAERSE)
10:25 283 150.0 0. 588 E {Ri%e10:25 B3 (RAERSE)
11:15 283 150.0 0.588 El BRige11:15 Bz GREAERESE)
12:05 283 150.0 0.588 S {Rige12:05 Bz (GRAERSE)
12:55 283 150.0 0.588 E| {Rige12:55 B (RAEBSE)
13:45 283 150.0 0.588 El BRi&e13:45 Bz GRAEREEE)
14:40 283 150.0 0.588 F BRige14:40 Bz CGRAEREESE)
15:45 283 150.0 0.588 S| {Rige15:45 B (KRAERSE)
17:15 283 150.0 0.588 F BRige17:15 Bz (GRAERESE)
E23t1]2830.0 (100%) 1500. 0 #2333 %EC: 2080.0, PH: 6.4
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P4_0, Day=68 (2025-06-11)
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P4

BYE) | GEBERTIC (B)) | ERE (BEA/4K) | EREE (B/R) | XS ERE

08:35 283 150.0 0. 588 | 1{Rie08:35 B (KRAEREE)
09:25 283 150.0 0.588 sl {Ri%e09:25 B (RFAEHE)
10:25 283 150.0 0. 588 F|  {Rig010:25 Bzh (REERSE)
11:15 283 150.0 0.588 F Rige11:15 Bz (GRAERSE)
12:10 283 150.0 0.588 F {Rige12:10 B3h (RAERSE)
13:00 283 150.0 0.588 F|  {Rig013:00 B3h (RE{ERSE)
13:50 283 150.0 0. 588 El BRi&e13:50 Bz CGRAERESE)
14:40 283 150.0 0.588 E BRi&e14:40 Bz CGRAEESE)
15:45 283 150.0 0.588 | 1RiRe15:45 B (KREAERSE)
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